
ASSEMBLY INSTRUCTIONS

1-Piece
43 Inch Propane
Gas Fire Pit Table



2

 

BEFORE ASSEMBLY
Verify that all parts are included with your gas fire pit BEFORE you begin assembly by
checking the Parts and Hardware List. For your convenience,some parts may be pre-
assembled or attached to heater components.

Leave hardware installed HALF-TIGHTENED on the gas fire pit during assembly until unit is
completely assembled, then finish tightening all hardware installed. 

YOUR OWNER’S MANUAL
Keep and store this Owner’s Manual for future reference-It contains importand instruction and 
procedures for safety and maintenace.

Warning and Cautions......................................................................3-5

Table of Contents................................................................................2

Tools and Parts.................................................................................6-9

 0 Lighting Operation........................................................................ 1  -1

Maintenance and Storage............................................................ 1 -1

Trouble Shooting...............................................................................1









s

6

Glass panel （x2）

V

X

W

XWVU

TSL P

EA B C D

G H I J KF

Door frame 
Gloves

 

Y

R

AAA) Battery

Glass stoneV 6
20

W.  Protective cover
X.  Foot pad (x4)

AAA Battery 

s

6

Glass panel

Glass stoneV

V

6
20

X

W

W.  Protective cover
X.  Foot pad (x4)
X.  Foot pad (x4)

V

6
20

X

W

.  Protective cover
Y.  Glass panel (X2)
X.  Foot pad (x4)

 Screwdriver 
 M6*16 screw (×4
 M6*25 screw (×16

 
 Washer (×20  

 Glass stone
  Protective cover
  Foot pad (×4
Glass panel (X2)



(APAGADO)

7

G

J

2.Attach the later panel (F) panel, front panel (D)
to the part (C) and right front leg (J) and right back
leg (G), attach the side panel (E) to the right front leg
(J) and right back leg (G), using 12 pcs M6x25
screws (T) and 12 pcs washers (U).



Assembly instruc

front
) using 4  ( dnats latem eht ot      ) (         

pcs M6 x 25 screws ( ) and 4 
pcs washers ( ).

r t
6. Place propane gas tank (not included)

X

L

B

Attaching the glass panel and foot pads.

5. Place  the four corners of the glass

panels（L )
at the four corners of the table top（B） 
frame

into the metal stand ( ). Make sure the
gas tank sits on the metal stand
completely. Turn the preassembled wing
screw on the outer part of metal stand
( ) clockwise to secure the propane gas

8

L

L

Y

Y



Assembly instruc

front
) using 4  ( dnats latem eht ot      ) (         

pcs M6 x 25 screws ( ) and 4 
pcs washers ( ).

5. Place  the four corners of the glass panel（L)
at the four corners of the table top（B

X

） frame

(G,H,I,J). 
.

L

B

Attaching the glass panel and foot pads.

8

Assembly instruc

front
) using 4  ( dnats latem eht ot      ) (         

pcs M6 x 25 screws ( ) and 4 
pcs washers ( ).

5. Place  the four corners of the glass panel（L)
at the four corners of the table top（B

X

） frame

(G,H,I,J). 
.

L

B

Attaching the glass panel and foot pads.

8

. Open the igniter cover and put the
AAA b ttery into it, then tighten the
igniter cover completely. Pour the
  around the burner.
Ensure   is not
placed on the ignition portion of the
burner.

burner 
is in operation. Wait until the unit cools 
competely before place the lid.

. Turn the cylinder valve on the tank clockwise to
close the propane tank.  preassembled
regulator from the table top ( ) to the cylinder
valve by turning the regulator coupling nut
clockwise. Make sure it is fastened securely and
tighten connections by 
connecting, secure gas hose to the bracket on the
inside of the front panel .

PRESSURE 
RELIEF VALVE

BLEED-OFF
VALVE

REGULATOR

CYLINDER VALVE

BLACK COUPLING NUT
turn clockwise to connect

turn clockwise
to reseal

glass stones
glass stones

9.

8.Open  the igniter cover and put the
AAA battery into it,then tighten the
igniter cover completely.To avoid
cutting your hand, please put on
gloves and pour the glass stones
around the burner. And, please pick
out the broken glass stones. 
Make sure that the glass stones
are not placed on the ignition
part of the burner.

. Open the igniter cover and put the
AAA b ttery into it, then tighten the
igniter cover completely. Pour the

 around the burner.
Ensure   is not
placed on the ignition portion of the
burner.

burner 
is in operation. Wait until the unit cools 
competely before place the lid.

. Turn the cylinder valve on the tank clockwise to
close the propane tank. preassembled
regulator from the table top ( ) to the cylinder
valve by turning the regulator coupling nut
clockwise. Make sure it is fastened securely and
tighten connections by
connecting, secure gas hose to the bracket on the
inside of the front panel .

PRESSURE 
RELIEF VALVE

BLEED-OFF
VALVE

REGULATOR

CYLINDER VALVE

BLACK COUPLING NUT
turn clockwise to connect

turn clockwise
to reseal

glass stones
glass stones

9.When the gas furnace products are 
notused outside, should be covered 
with aprotective cover(W) to prevent 
theproduct for a long time under the 
sunand rain caused iron oxidation.

. Open the igniter cover and put the
AAA b ttery into it, then tighten the
igniter cover completely. Pour the

 around the burner.
Ensure   is not
placed on the ignition portion of the
burner.

burner
is in operation. Wait until the unit cools 
competely before place the lid.

9

valve by turning the regulator coupling nut
clockwise. Make sure it is fastened securely and
tighten connections by
connecting, secure gas hose to the bracket on the
inside of the front panel .

REGULATOR turn clockwise
to reseal

glass stones
glass stones

9.When the gas furnace products are 
notused outside, should be covered 
with aprotective cover(W) to prevent 
theproduct for a long time under the 
sunand rain caused iron oxidation.

8.Open  the igniter cover and put the
AAA battery into it,then tighten the
igniter cover completely.To avoid
cutting your hand, please put on
gloves and pour the glass stones
around the burner. And, please pick
out the broken glass stones. 
Make sure that the glass stones
are not placed on the ignition
part of the burner.

. Open the igniter cover and put the
AAA b ttery into it, then tighten the
igniter cover completely. Pour the

 around the burner.
Ensure   is not
placed on the ignition portion of the
burner.

burner
is in operation. Wait until the unit cools 
competely before place the lid.

9

regulator from the table top ( ) to the cylinder
valve by turning the regulator coupling nut
clockwise. Make sure it is fastened securely and
tighten connections by
connecting, secure gas hose to the bracket on the
inside of the front panel .

REGULATOR turn clockwise
to reseal

glass stones
glass stones

9.When the gas furnace products are 
notused outside, should be covered 
with aprotective cover(W) to prevent 
theproduct for a long time under the 
sunand rain caused iron oxidation.







��






